Assignment -9 Newton nuth & Vikas Chand D & D is an e. r f a non-singular matrin A. Frnd out e.v. of matrin adjA. not fince 7 in e.v of matrin A. Ret, 'x' be a sign vector of A (ten, AX=JX - 10 Multiplying both side by A'we get, ATAX=ATAX -) ATX: 1X. -272 . I is the eigen value of The matrin A-1. fince we know, [from def] $A^{-1} = \frac{adj(A)}{|A|}$ p) $adj(A) = A^{-1}|A|$ So The neger value of adj (A) is sigen value of A-mulli p-11Al which is / IAI vising (2)

Assignment 9

Apurv Chaitanya N & Sanjay Saini

September 2, 2012

Question: 9. For a symmetrical square matrix, show that the eigen vectors corresponding to two unequal eigenvalues are orthogonal.

Answer:

Convention: Let $|a\rangle$ represent a column vector and $\langle a|$ represent a row vector. Given:

$$A = A^T \tag{1}$$

Claim: $|\lambda_i\rangle$ and $|\lambda_i\rangle$ are eigenvectors of A with distinct eigenvalues λ_i and λ_j respectively then $\langle \lambda_i | \lambda_j \rangle = 0$

Proof: As $|\lambda_i\rangle$ is an eigen vector of A

$$A|\lambda_i\rangle = \lambda_i|\lambda_i\rangle \tag{2}$$

We take inner product of eq.2 with $\langle \lambda_j |$,

$$\langle \lambda_i | \mathbf{A} | \lambda_i \rangle = \lambda_i \langle \lambda_i | \lambda_i \rangle \tag{3}$$

Now taking transpose on both sides of eq.3, we get

$$\langle \lambda_i | \mathbf{A} | \lambda_j \rangle = \lambda_i \langle \lambda_i | \lambda_j \rangle \tag{4}$$

where we have used the facts that $A^T = A$, $|a\rangle^T = \langle a|$ and $\langle a|^T = |a\rangle$. We have also used the fact that $\lambda^T = \lambda$ for any symmetric matrix as $\lambda \in \mathbb{R}$. (Though transposing dosent have any effect on the eigenvalue of symmetric matrix we emphasis this point so that we can easily generalise this proof to Hermitian matrices as well). As λ_j is also an eigen vector, we get from eq. 4

$$\lambda_j \langle \lambda_i | \lambda_j \rangle = \lambda_i \langle \lambda_i | \lambda_j \rangle \tag{5}$$

Taking the terms of eq.5 to one side,

$$(\lambda_j - \lambda_i) \langle \lambda_i | \lambda_j \rangle = 0 \tag{6}$$

as $\lambda_j \neq \lambda_i$, the first term in eq.6 can not be zero i. e. $(\lambda_j - \lambda_i) \neq 0$. So the second term in eq.6 must be zero. So

$$\langle \lambda_i | \lambda_j \rangle = 0$$
 Q.E.D

Assignment -9 (Group-4) Q.y. Using Cayley - Hamilton theorem, find the inverse of $\begin{vmatrix} 7 & -1 & 3 \\ 6 & 1 & 4 \\ 9 & 4 & a \end{vmatrix}$ Ansy Let us take $A = \begin{bmatrix} 7 & -1 & 3 \\ 6 & 1 & 4 \\ 3 & 4 & 8 \end{bmatrix}$ Now we can wreite $A - \lambda I = \begin{bmatrix} 7 & -1 & 3 \\ 6 & 1 & 4 \\ 2 & 4 & 8 \end{bmatrix} - \lambda \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 7 - \lambda & -1 & 3 \\ 6 & 1 - \lambda & 4 \\ 2 & 4 & 8 - \lambda \end{bmatrix}$ The charcacteristic equation of A is $|A - \pi I| = 0$ $\Rightarrow \begin{vmatrix} 7-3 & -1 & -3 \\ 6 & 1-3 & 4 \end{vmatrix} = 0$ $\Rightarrow (7-7) \left\{ (1-7)(8-7) - 16 \right\} - (-1) \left\{ 6(8-7) - 8 \right\} + 3 \left\{ 24 - 2(1-7) \right\} = 0$ $\Rightarrow (7-3) (8-3-83+3^2-16) + (48-63-8) + 3 (24-2+23) = 0$ $\Rightarrow (7-3) (3^2-93-8) + 40-63 + 72-6+63 = 0$ $\Rightarrow 7\lambda^2 - 63\lambda - 56 - \lambda^3 + 9\lambda^2 + 8\lambda + 106 = 0$ $\Rightarrow -3^{3} + 163^{2} - 553 + 50 = 0$ $\rightarrow \lambda^{3} - 16\lambda^{2} + 55\lambda - 50 = 0$ (1) . Hence the characteristic eq^2 is $\lambda^3 - 16\lambda^2 + 55\lambda - 50 = 0$

According to Cayley - Hamilton Heariem the matrix A also satisfies the above charactoristic eq?. So we can write $A^{3} - 16A^{2} + 55A - 50 I = 0$ $\Rightarrow 50 I = A^{3} - 16A^{2} + 55A$ $\Rightarrow I = \frac{1}{50} (A^{3} - 16A^{2} + 55A)$

$$\begin{aligned} & \text{Premultiplying } A^{T} \text{ as both sides } A^{T} \text{ lic abase equive.} \\ & A^{T} \text{ I} = \frac{B^{T}}{SO} \left(A^{3} - 16A^{2} + 5SA \right) \\ & \Rightarrow A^{T} = \frac{1}{SO} \left(A^{2} - 16A + 5ST \right) - (2) \\ & A^{2} = A \cdot A \\ & = \begin{bmatrix} 7 & -1 & 3 \\ 6 & 1 & 4 \\ 8 & 4 & 8 \end{bmatrix} \begin{bmatrix} 7 & -1 & 3^{2} \\ 6 & 1 & 4 \\ 8 & 4 & 8 \end{bmatrix} \\ & = \begin{bmatrix} 9n - 6+6 & -7 - 1+12 & 21 - 4+24 \\ 92 + 6+8 & -6 + 1+16 & 18 + 4 + 32 \\ 14 + 29 + 16 & -2 + 9 + 16632 & 6 + 16 + 64 \end{bmatrix} \\ & = \begin{bmatrix} 149 & 4 & 41 \\ 56 & 11 & 54 \\ 511 & 324 & 86 \end{bmatrix} \\ & \text{Now eq}^{T} \left(A \right) \text{ becomes} \\ & A^{T} = \frac{1}{SO} \left\{ \begin{bmatrix} 140 & 4 & 41 \\ 56 & 11 & 54 \\ 541 & 344 & 86 \end{bmatrix} - \begin{bmatrix} 162 & 6 & 18 \\ 2 & 4 & 8 \\ 162 & 1 & 8 \\ 2 & 4 & 8 \end{bmatrix} + 5S \begin{bmatrix} 0 & 0 & 0 \\ 0 & 0 & 1 \end{bmatrix} \right\} \\ & = \frac{1}{SO} \left\{ \begin{bmatrix} 109 & -101 \\ 241 & 341 & 86 \\ 155 & 157 \\ 155 & 157 \\ 155 & 122 & -350 \end{bmatrix} + \begin{bmatrix} -8 & 20 & -77 \\ -40 & 66 - 16 & -10 \\ 22 & -30 & 13 \\ 13 & 25 & 55 \\ 11 & 1 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 & 55 \\ 11 & 25 \\ 11 & 25 & 55 \\ 11 & 25 \\ 11 & 25 & 55 \\ 12 & 55 \\ 11 & 25 \\ 12 & 55 \\ 12 & 55 \\ 13 & 55 \\ 14 & 55 \\ 14 & 55 \\ 14 & 55 \\ 15$$

Extra

To check !

$$= \begin{bmatrix} -\frac{56}{50} + \frac{13}{5} + \frac{33}{52} \\ -\frac{13}{50} + \frac{13}{5} + \frac{13}{50} \\ -\frac{18}{50} - \frac{13}{5} + \frac{13}{50} \\ -\frac{16}{50} - \frac{16}{5} + \frac{88}{525} \\ -\frac{19}{50} - \frac{19}{5} + \frac{12}{50} \\ -\frac{19}{50} - \frac{16}{5} + \frac{88}{55} \\ -\frac{19}{50} - \frac{16}{5} + \frac{88}{55} \\ -\frac{19}{50} - \frac{16}{5} + \frac{88}{55} \\ -\frac{19}{50} - \frac{19}{5} - \frac{19}{5} - \frac{19}{50} \\ -\frac{19}{50} - \frac{19}{5} - \frac{19}{5} - \frac{19}{50} \\ -\frac{19}{50} - \frac{19}{5} - \frac{19}{5} \\ -\frac{19}{50} - \frac{19}{5} - \frac{19}{5} \\ -\frac{19}{50} - \frac{19}{5} - \frac{19}{5} \\ -\frac{19}{50} - \frac{19}{5} \\ -\frac{19}{5} \\$$

 $= \begin{bmatrix} 1 & \cancel{1} & 0 & 0 \\ 0 & \cancel{1} & 0 & 0 \\ 0 & \cancel{1} & 0 & 0 \\ 0 & \cancel{1} & 0 & 0 \end{bmatrix} = T$

1

1.11

Assignment No-9 Analf -3
Assignment No-9 Analf -3
Approximate No-9 Analf -3
Physical Research Laboratory, Ahmedabad
Bubblem-5
The given mathin
$$\frac{1}{M_{A}} = \begin{bmatrix} -1 & 2 & -2^{-1} \\ 1 & 2 & 1 \\ -1 & -1 & 0 \end{bmatrix}$$

Let 1 be the eigen value of of this mathin.
Then $\begin{bmatrix} -1 - \lambda & 2 & -2 \\ 1 & 2 - \lambda & 1 \\ -1 & -1 & -1 \end{bmatrix} = 0$
 $\begin{pmatrix} -1 - \lambda & 2 & -2 \\ 1 & 2 - \lambda & 1 \\ -1 & -1 & -1 \end{bmatrix} = 0$
 $\begin{pmatrix} -1 - \lambda & 2 & -2 \\ 1 & 2 - \lambda & 1 \\ -1 & -1 & -1 \end{bmatrix} = 0$
 $\begin{pmatrix} -1 - \lambda & 2 & -2 \\ 1 & 2 - \lambda & 1 \\ -1 & -1 & -1 \end{bmatrix} = 0$
 $\begin{pmatrix} -1 - \lambda & 2 & -2 \\ 1 & 2 - \lambda & 1 \\ -1 & -1 & -1 \end{bmatrix} = 0$
 $\begin{pmatrix} -1 - \lambda & 2 & -2 \\ 1 & 2 - \lambda & 1 \\ -1 & -1 & -1 \end{bmatrix} + 2 (-1 + \lambda) - 2 (-1 + 2 - \lambda) = 0$
 $\begin{pmatrix} -1 - \lambda & 1 & -2 & -1 + 2 - \lambda & -2 \\ -1 - \lambda & 1 & -2 & -2 + 2 - 1 \end{bmatrix} = 0$
 $-\lambda^{3} + \lambda^{2} + 5\lambda - 5 = 0$
 $-\lambda^{3} + \lambda^{2} + 5\lambda - 5 = 0$
 $-\lambda^{3} + \lambda^{2} + 5\lambda - 5 = 0$
 $-\lambda^{3} + \lambda^{2} + 5\lambda - 5 = 0$
 $\lambda = 1$
 $\lambda = \pm \sqrt{5}$
From the eigen value we can directly unith durite the

trom the ligen value we can directly worth worth the diagonal matrix of A. Because we know that the eigenvalue of a matrix, "appears in the diagonal of a diagonal matrix,

So the diagonal form of a matrin A is $\begin{bmatrix} 1 & 0 & 0 \\ 0 + \sqrt{5} & 0 \\ 0 & -\sqrt{5} \end{bmatrix}$

Assignment No - 9 Aroup-3 भौतिक अनुसंधान प्रयोगशाला, अहमदाबाद Physical Research Laboratory, Ahmedabad Problem No-5 The given matrix in $A = \begin{bmatrix} -1 & 2 & -2 \end{bmatrix}$ Sotat To find the eigen value we do A-II=0, 1 if the eigen values. $\begin{vmatrix} -1 - 1 & 2 & -2 \\ 1 & 2 - 1 \\ -1 & -1 & 0 - 1 \end{vmatrix} = 0$ 本 (-1-1) { (2-1)·(-1)+1 } +2 { -1+1 } -2 { +1+2-1 }=0 $= (-1-1) (-2 + 1^{2} + 1) - 2 + 2 + 2 - 4 + 2 - 1 = 0$ $-1^{3}+21^{2}-1+21+1^{2}-1+41-4=0$ $-3^{3}+3^{2}+53-5=0$ $-1^{2}(1-1) + 5(1-1) = 0$ (1-1) (1-5)= 0 1=1-1= = 52 The edgen values are $A_1 = 1$, $d_2 = -\sqrt{5}$, $d_3 = \sqrt{5}$ Eigenvector conceptonding to 1, =1 is given by $\begin{vmatrix} -1 & -1 & -1 \\ 1 & 2 - 1 & 1 \\ -1 & -1 & -1 \\ -1 & -1 & -1 \\ \begin{vmatrix} -2 & 2 & -2 \\ 1 & 1 & 1 \\ -1 & -1 & -1 \\ \end{vmatrix} \begin{vmatrix} \lambda_{12} \\ \lambda_{22} \end{vmatrix} = 0$



भौतिक अनुसंधान प्रयोगशाला, अहमदाबाद Physical Research Laboratory, Ahmedabad

Rutting in @ encl @ $(-1 - \sqrt{5})(-21_2 - \sqrt{5} n_3) + 221_2 - 2n_g = 0$ $- \pi_2 - \sqrt{5} \,\pi_3 + (2 - \sqrt{5}) \,\pi_2 + \pi_3 = 0$ Fron 💮 (7) $n, (1+J_5+2) + n_3 (J_5+5-2) = 0$ $n_2(N_5+3) + n_3(\sqrt{5}+3) = 0$ ラ スニース」 Now $\mathcal{N}_1 = \mathcal{N}_2 \left(1 - \sqrt{s} \right)$ Thurfore the eigenvector is given by taking 3=1 $X_{\chi} = \begin{bmatrix} 1 - \sqrt{5} \\ -1 \end{bmatrix}$ The eigenvallation carrierpoinding to to 3 = - 15 is given by $\begin{bmatrix} -1 + \sqrt{5} & 2 & -2 \\ 1 & 2 + \sqrt{5} & 1 \\ -1 & \sqrt{5} & 1 \\ -1 & \sqrt{5} & 1 \\ 73 \end{bmatrix} = 0$ PUI (-1+J5) +2213 -233 - 0 $M_1 + (2 + \sqrt{5}) N_2 + N_3 = 0 - 0$ (\overline{V}) $-\chi_1 - \chi_2 + \sqrt{S}\chi_3 = 0$ ルノニー ルノナノショ Ruthing this Oc $- \chi_2(-1+J_5) + \chi_3 J_5(-1+J_5) + \chi_{3} - 2\chi_3 = 0$

$$\begin{split} & \mathcal{H}_{\lambda}\left(1-G_{5}+2\right) + \mathcal{H}_{3}\left(-J_{5}+S-2\right) = 0 \\ & \mathcal{H}_{\lambda}\left(2-J_{5}\right) + \mathcal{H}_{3}\left(2-J_{5}\right) = 0 \\ = 3 \quad \mathcal{H}_{2} = -\mathcal{H}_{3} \\ & \mathcal{H}_{1} = \mathcal{H}_{3}\left(1+J_{5}\right) \\ \hline \mathcal{H}_{1} = \left[\begin{array}{c} 1+J_{5}\\ -1\\ 1\end{array}\right] \\ \hline \mathcal{H}_{1} = \left[\begin{array}{c} 1+J_{5}\\ -1\\ 1\end{array}\right] \\ \hline \mathcal{H}_{1} = \left[\begin{array}{c} 1+J_{5}\\ -1\\ 1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 1+J_{5}\\ -1\\ 1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 1 & 1-J_{5}\\ -1\\ 1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 1\\ 1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{1} = \left[\begin{array}{c} 0 & 1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -2J_{5} & 2J_{5} & -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{2} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -1\\ -1\\ -1\end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & -J_{5} & J_{5}\\ -1\\ -J_{5} & J_{5} \\ -J_{5} & J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -1\\ -J_{5} & J_{5} \\ -J_{5} & J_{5} \\ -J_{5} & J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -J_{5} & J_{5} \\ -J_{5} \\ -J_{5} & J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -J_{5} \\ -J_{5} & J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -J_{5} \\ -J_{5} & J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -J_{5} \\ -J_{5} & J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} & 2J_{5}\\ -J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} \\ -J_{5} \\ \end{array}\right] \\ \hline \mathcal{H}_{3} = \left[\begin{array}{c} 0 & 2J_{5} \\ -J_{5} \\ -J_{5$$

ò

¥

į

भौतिक अनुसंधान प्रयोगशाला, अहमदाबाद Physical Research Laboratory, Ahmedabad

 $= \frac{1}{2\sqrt{5}} \begin{bmatrix} 2\sqrt{5} & 0 & 0 \\ 0 & 10 & 0 \\ 0 & 0 & -10 \end{bmatrix}$ $= \begin{bmatrix} 1 & 0 & 0 \\ 0 & \sqrt{5} & 0 \\ 0 & 0 & -\sqrt{5} \end{bmatrix}$ This is the dragonal metetria of the given mataria.

Assignment -9 Date! 28,08,2012 Group 9 6 Show that an mxn matrix A is singular if and only if zero is one of its eigenvalues. Give an example of a singular 3x3 matrix and Now, A is a singular matrix, det (A) =0. Mothod 13 We know that, 'y A 's a singular mabrin then only any nonzero arbitrany column matrin X A 7 =0 for $\chi = \begin{pmatrix} \pi_1 \\ \vdots \\ \vdots \\ \vdots \\ \vdots \end{pmatrix}$ the ligenvalue of a mabrix then the Noto, in general, if I in be written woo characteristic equation can for any nonzero X. $AX = \lambda X$ 55 So, here, JX=0. or, 2IX=0 [-' I,X ≠0] Hence, & one of the eigenvalues of A must be zero for become a similar A la become a ringular matrix. Method 2: If I is the eigenvalue of A then the characteristic eq = is: Now if we put 7=0, it gives 1A1=0, which implies A is a singular matrix. if we put 1A1=0. then putting 7=0 satisfies the above a singular matrin, Hence 7-0 is essentially the "recessory & sufficient andition" for A to become a Kingular matrix. eq !

· - 5 n2 + 5 n3 =0

: x, 2A3

2n, 2n 2n, 2n $x_{i} = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$ (say 2, 2i) $x_{i} = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$ $(x_{i} + x_{i}) = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$

("i) for 2=2, $\begin{bmatrix} 5 & -6 & 2 \\ -6 & 4 & -4 \\ 2 & -4 & 0 \end{bmatrix} \begin{bmatrix} n_1 \\ n_2 \\ n_3 \end{bmatrix} \approx 0$ $\begin{bmatrix} 5n_1 - 6n_2 + 2n_3 \approx 0 \\ -6n_1 + 4n_2 - 4n_3 \approx 0 \\ 2n_1 - 4n_2 \end{bmatrix} (2).$ N,=2n2. & x2 is arbitrary & (Kory 2201).

 $\begin{pmatrix} -7 & -6 & 2 \\ -6 & -8 & -4 \\ 2 & -4 & -12 \end{pmatrix} \begin{pmatrix} \pi_1 \\ \pi_2 \\ \pi_3 \end{pmatrix} > 0 = P -6\pi_1 - 8\pi_2 - 4\pi_3 > 0 \\ 2\pi_1 - 4\pi_2 - 12\pi_3 > 0 \\ 2\pi_1 - 4\pi_2 - 12\pi_3$ (iii) for, 2=15 : - 20x2 - 40x3 20 $n_{2} = -2n_{3}$ & n, = 2n2. (150y 2321). and ng is arbeitrany. . The eigenvector is $X_3 = \begin{pmatrix} -4 \\ -2 \end{pmatrix}$ The eigenvalues are $0000 \ \Re = 0.3 \ \& 15$ and the corresponding set of cigenvectors are: $\binom{1}{2}\binom{2}{1}\binom{2}{1}$ and $\binom{-4}{-2}$ respectively. And

GIROUP - SIX ASSIGNMENT # 9 Given $A = \begin{bmatrix} 0 & 0 & c \\ -c & 0 & 0 \\ 0 & -1 & 0 \end{bmatrix}$ Question #9 :-Show that An=1 (with proper choice of n; n=0) Solution .. Charecteristic equation of given matrix, $|A - \lambda I| = 0$ $\begin{vmatrix} -\lambda & 0 & \tilde{c} \\ -\tilde{c} & -\lambda & 0 \\ 0 & -1 & -\lambda \end{vmatrix} = 0$ $-\lambda (\lambda^{2} - 0) + \tilde{\iota} (\tilde{\iota}) = 0$ $-\lambda^3 + \ell^2 = 0$ $-\lambda^3 - 1 = 0$ $\lambda^3 + 1 = 0 - - 0$ By Cayley-Hamilton's theorem, " Every motrix satisfies êts own charectenstic equation." Su $A^{3} + 1 = 0$ $\Rightarrow A^{3} = -1$ $S_{0} = A^{3}A^{3} = (-1)(-1)$ =) A6=11 So for n=6, $A^{h}=1$. $A^{6} = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$

भौतिक अनुसंधान प्रयोगशाला, अहमदाबाद Physical Research Laboratory, Ahmedabad Group-8 arrighment-9 Prob: (0) A rotation \$1+\$2 about the 2-anis is carried out as two successive votations ϕ_1 and ϕ_2 , each about the z-onis. Use the matrix representation of the rotations to durine the trigonometric identities: $\cos(\phi_1 + \phi_2) = \cos \phi_1 \cos \phi_2 - \sin \phi_1 \sin \phi_2$ and $\sin(\phi_1 + \phi_2) = \sin \phi_1 \cos \phi_2 + \cos \phi_1 \sin \phi_2$. y'' x'' x'' x'' x'' x'' x'' x'' x''Sol $(\phi_1 + \phi_2)$ rotate the x-y plane about 2 amis with an If we ongle 9,+\$\$2, then the new co-ordinate becomes n"-y". The relation but " Kice (", ") and (", y) river by $\begin{pmatrix} n'' \\ y'' \end{pmatrix} = \begin{bmatrix} \cos(\phi_1 + \phi_2) & \sin(\phi_1 + \phi_2) \\ -\sin(\phi_1 + \phi_2) & \cos(\phi_1 + \phi_2) \end{bmatrix} \begin{bmatrix} \chi \\ \gamma \end{bmatrix}$ $T \left(\phi_1 + \phi_2 \right) \left(\begin{array}{c} \gamma \\ \gamma \end{array} \right) = 0$ Now, it we rotate ky plane w.r.t 2 am's about an angle of, them

$$\begin{pmatrix} n' \\ y' \end{pmatrix} = T(\phi_1)\begin{pmatrix} n \\ y \end{pmatrix}, \text{ there } T(\phi_1) = \begin{pmatrix} a_1\phi_1 & nh \\ -nh\phi_1 & nh \end{pmatrix}$$
Now, again we relate n_1, y_1 plane $in_1, i \neq anis, agg$
an angle ϕ_2 , then
$$\begin{pmatrix} n' \\ y_1 \end{pmatrix} = T(\phi_2)\begin{pmatrix} n' \\ y_1 \end{pmatrix}, \text{ then } T(\phi_2) = \begin{pmatrix} o + 1 \\ y_1 \end{pmatrix} = (o + 1 \\ -nh\phi_2 & o + 1 \end{pmatrix}$$

$$= T(\phi_1) T(\phi_1) \begin{pmatrix} n \\ y \end{pmatrix} = \begin{pmatrix} a + 1 \\ a + 1 \end{pmatrix} = \begin{pmatrix} a + 1 \\ -nh\phi_1 & a + 1 \end{pmatrix}$$

$$\begin{pmatrix} a + 1 \\ -nh\phi_1 & a + 1 \end{pmatrix} = \begin{pmatrix} a + 1 \\ -nh\phi_2 & a + 1 \end{pmatrix} \begin{pmatrix} a + 1 \\ -nh\phi_1 & a + 1 \end{pmatrix} =$$

Assignment-9

Group-10 (George and Ritwik)

Question:

Prove that if $A^k = 0$ for some positive integer k (such a matrix is said to be nilpotent), then all the eigen-values of A are zero.

Answer:

Let *A* be any $n \times n$ nilpotent matrix with the degree *k* and λ be the eigen values of the matrix corresponding to the Eigen-vector *V*. Then the eigen value equation would be

$$AV = \lambda V$$

It is given that,

$$A^k = 0$$

Take the term

$$A^{k}V = A^{k-1}AV = A^{k-1}\lambda V = A^{k-2}\lambda^{2}V = \dots \dots \dots \dots = \lambda^{k}V$$

Since *A* is nilpotent matrix and it is defined that $A^k = 0$,

 $\Rightarrow A^k V = \lambda^k V = 0$

Now take that V's are not a zero matrices, then we can write

$$\lambda^k = 0$$

This tells that $\lambda = 0$

Here we have chosen a arbitrary eigen-value so it is in general all the eigen values of a nilpotent matrix should be zero. (Q.E.D.)